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Question # 1 (25 points):

Determine the power that is absorbed or supplied by the elements in the circuit shown in
Figure 1. Is the principle of conservation of energy satisfied? Justify your answer.
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Question # 2 (25 points):
Find the voltage Vo in the network in Figure 2.

T ¥
I I,
W) | b “
i0 Vaz 1202
an |
. - - 1_-: - )
' Figure 2
Solution: ‘
) — (39 = _L_{_, T..x .
r. = iz Lo = 2ke = 3
(24
' =L
3

— 0 FSA
_ :>Z;c_o37’
oD — ETx 4 4T + EXx + ¥ =7
bl — ¢ + 7 - > =TTy

Vo 6V

=]

1

—— e



Question #3 (25 points):

Given the circuit in Figure 3, if Vo = 12V, Find Is.
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Question #4 (25 points): -
Find lo in the network shown in Figure 4.
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NOTE1L: OPEN BQOK, OPEN NOTES, CLOSED NEIGIDOURS e
NOTE2: SHOW ALL WORK IN ORDER TQ NECEIVE FULL CREDIT.

L. 15 Pus. In the circull shown in Fig.P1, find the power absorbed or delivered by
the cireuit elements, 1s the circuil valid?
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2.5 m.u. Find the vollage gain <o}_. in the circuit shown in Fig,P2,
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3, 20 Pis. In the network in Fig. E il the power genidraled by Lhe 4-A'source is 45,

Find V.
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1. 201, The voltape and carrent ot the terminalz of an elemncnl are piven by:
v 100 7Y, L Qe 10¢7% 1A,
a) Caleulale the power received by this cloment at tar [ns,
b) Caleulate the tolal energy delivered to ihis clement,

2. 2005, Find the vollage vy in the following circuil.
Caleulate the power deliveied ar abzarbed by each element,

Verify that the tetal of absorbed poweas is equal o the total <

delivered powers,
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4. 2015, Find the power abserbed by the 3 k€2 resistor in the following circuit,
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5,20 I1s. Find the equivalent resistance al points A, 13, C, md D,
Dy the voltage division method find V.
By the current division method End ¥g.
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76.\15 Pts. Find the power absorbed by the 12-Q resistor in the network in
Fig. P6. 5510
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Fig P6

ms Pts: Use Nodal analysis to find 1o in the network in Fig. P7:
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